
53604CodeSubjectIPaper

)hoursQ%

bemust

calculators

F'enrn

I JAdvanced ava

questionsBN

the
the

to
tobers

layoutdefault
AWT

eventsing

-(1)
(2)
(3)
(4)
(5)
(6)

A

W

Ail

Num
w
of

the

comDulsorv.are

indicaterieht

following:theofAnV til)O

that
ofExplain

Make
Answers

javaa

wherever

window

necessary

IS

Dra
Use

ttempt

marks.
wherever

Ent=r 5iurjte:rt l-;rj I

Err::r l.lalrr:

Eirs:.r1:l-: ,,.. I lele -i Fems,Ie

.'rn'eirr.i.r:iEi Reqr.ri.r.eri f a r- I
E*n=:.aI :.pti+-ude

I ;.i x,Ju.lr,,sl-ira3. .,r,ptitu,rle
r.: i F.,irB=trnj.nE EkilLs
rS1br]1 

, jReserj, ,,,,,,,,,:,,,,,,,,. ,,::, .

.r:]t.
a.

b. rite
IoC ,)

program

FLe+r,errner*t

c.

d.

the event handling process?

mJava swing,
organzers.

Request Dispatcher interface. Explain include0 and
to it.

:,'

10

l0

the length of the entered sking and entered string in upperhtml.
Add suitable example to it.

Page I of2

TTB Er: lT i

a

-:.,

l
.l:

:l

l,



avaJcedAdvan53604

action
vers

rules

CodeectSubj

owing:

forward>

I

architecture

perPa

(bean)model

oglc
interest.

Explain

WhatWhat
rnetho

the
the

contains
and
d

JDBC

amount
shoul

is Prepared Statement?
ds? Explain.

the significance
the architecture

Explain

Attem

interest.

Explain
S

Write
num
What

4.
a.

b.

d.

5.
a.

b.

d.

01

core

beanSESSION

Assume
mess

inceptors?are
ORM?What

What

6.
a.

b.

C.

d.

7.

a.

b.

C.

d.

e.

f.

15

)) ofPage

Attempt anY lbto of the
ofJSP.

Explain <jsp:include> and tags. AddExplain Add suitable illustration

anv two of the following:
Explain components of JSF.

JSF)
the advantages of EJB? Explain.

Write a

assumed rate of

Attempt
Explain
Explain the
Explain
Explain
Explain

Swing.

illustration to it.


